[unused pin connection circuit 1]

Input is tied to GND, Output is open.

*A8,B8 are unused pins

*A8,B8 are unused pins

VCCA VCCB VCCA VCCB

SN74AVC8T245PWR SN74AVC8T245PWR
VCCA VCCB VCCA VCCB
DIR VCCB DIR VCCB
Al /OE Al /OE
A2 B1 A2 B1
A3 B2 A3 B2
A4 B3 A4 B3
Ab B4 Ab B4
A6 B5 A6 B5
A7 B6 AT B6

open |A8 B7 A8 B7
GND B8 GND B8| open
GND GND GND GND
*DIR is fixed *DIR is fixed

; ; *A8,B8 are unused pins *A8,B8 are unused pins ; ;
[unused pin connection circuit 2]
Input and output are pulled down.
VCCA VCCB VCCA VCCB

SN74AVC8T245PWR SN74AVC8T245PWR
VCCA VCCB VCCA VCCB
DIR VCCB DIR VCCB
Al /OE Al /OE
A2 B1 A2 B1
A3 B2 A3 B2
A4 B3 Ad B3
Ab B4 Ab B4
A6 B5 A6 B5
AT B6 AT B6
A8 B7 A8 B7
GND B8 GND B8
GND GND GND GND
*DIR is fixed *DIR is fixed




